SHSFE HEESSH

1%

FREGHRERR
LRSS B S

(1 @ik k378 8 » R

®
@
@ @
fE = [ X
4]
T = i R

H > &



THSEERERSFERBEKRTIREZLR VTR BF

FX34 )L51kghk
K&/ B% /2 HEREOREE

| 2 = S

M o (f8 2) —0
o B OO o= oE (g A1) 2013

VPO1

3 = 5 " 6:00 1-3

W OER(EEI) —
A B/ A (K1) 2002

P e e /AR,

158 2 T ( FE M 2 ) ———
s H TR (M@ T 3) -5:003°0]




SHSEERERSFERBRARFTRELRI VT HE B+F

FRXZA JL55kgilk
K&/ B4/ E 1R R R

T a8 & (8 #M3)

VSU1

R = 2:18 4-1
ZE%E\QIL\(E%Z) _VFA

" 0:49 5-0
3 & @B #H (& &, 1) ————- VSUL
4 /Il DB (K R 2) -1 2:14 41

= w A 3:48 4-0
SEREFR(FHR2) ——
it ) 6:00 3-1

’ VFO
T ERAEE(MA@RS) —2d
1REGRE 1R 5/61i R E 8

3 & B F (8 &% 1) TS

5 HEERE T (G H2) =——V230

HERGLEE 3/A6GLRE
2 BB B O (F X 2) —VPol ]
T REM#E (M oA@E3) L0013l




SHSEERERESFFRBAAFTRELRIV I HE

FX 454 )L60kgHk
K& /BB / 25
1 BEERBE (T XA2)
2 KRz w (FEMI1)
3 I K % (K R 1
4 N K ( £8 % 3 )
5 F B & ( 21)
6 A FH B ( B2 )
1 2 ¥ K ( 2 1)
8 N B . ¢ £ 3)
9 EHFEFEKXNB(M@™Y ES)

an

O
>

k

|.|.‘|_

Bl >

2REGRE
2 KB ZHW (M)
5P B & 3 (KR 1)
6 & H B £ (d5 f 2 )
8 NE R K (E £ 3)
ERBBRE

1T BEEHBEE(HXE2)
9 EHFZF KB (MY E3I)

1R 2R EERRE REE
VSU
0:57 4-0
VSU
0:29 4-0
VPO1
_ 6:00 1-3
VFA
0:22 5-0
VFA
3:36 5-0
VFA
2:17 0-5
VPO
6:00 3-0
VPO
6:00 0-3
IR 5/6fIRFEE
VFA
0:16 5-0
VPO1
6:00 3-1
VSU1
3:39 1-4f
3/46LR TE B
5
0:46 4-0

5F



SHSEERERSFERRERBTRELRI VT HEK
FXBA JL65kgih
KR/i% /26 1R R R
. g
VFO
2 I E A OK (1 oAMES3) —=d
= 2:50 04
3Wm I K&E (KR 3) W
s BB R (kg2 224 vsu
5 £ BB (8 K 3) — o 044 074
6 NIl th 2 K (g 4k 2) 2l
TERBH(BEIL2) —— 0
s & (@@ 3 ) -0l

1REGEE

M BB & (K R2)
Ik £ B B O( g€ # 3 )
ERBAFS(EBFI?2)

HERBRRE
BT &8 M K (h X H 3)

E & & (®r @& 3 )

1R 5/6HRTEE

VSU
2:46 14
VSU

1:05 4-0

3/4LLRTEE

VPO ]
6:00 0-3]

BF



SHSFERE RS EFHH
FRAA LT 1kgtk
K& /% /$E

2
4

MmEgEmFE (i XH2)
ZNEKXEB(EE2)
= #EBE (£ # 2)
EEASB(KRI)
KBEXRE (HTABAI)

EEE (FEBHII)
X #h By K (#8 # 3)

HER BB A
ZNfEXEB(EXR2)

“TEEXEB(KRI)

BARBRELRYVT R

1R ZEJREE RS
VEA
1:54 5-0
VSU
1:30 4-0
VPO
, 6:00 3-0
VSU
2:23 4-0
VSU
0:30 04
VSU1
2:15 1-4

1R 5/6{ R TE &

VFA

1:17 0-5

VSU

0:54 0-4]

3/ 4R TE B

VEA |
0:45 5-0

BF



SHSFERERESFERBERBERELR VT HR

FAXAA )L 80kgfk

R&/RB/FE
1 f1 B &% = BB (88 # 3)

INFNR A T=ZIIL b—
L X (fFEE I 2 )

SEEHAXNHB (B XEX2)
4 b MHER(HAXHSI)
sHZFBRBEA (K RX1)

6 W F (K R 1)
THERXE (S &K2)

1RELRE
SEEHm AR (T E2)

4 P ER (M KXHES)
6 W F (K R 1)

AERGBORE
INFYRE A4 T=IT)L b—
L X (fE M T 2 )

sHZFBRBEA (K RX1)

1R ZEJREE RS
VSU1
5:03 4-1
VSU1
5:39 4-1
VPO
6:00 3-0
VSU
0:49_0-4J
VPO1
6:00 1-3
VSU
0:25 0-4]
1R 5/61i iR T Bk
vsU |
0:57 4-0
VSU
0:48 4-0
3/4LLRTEE
VEA |
0:19 5-0

BF



SHSFERERESFERBERBERELR VT HR B+F

FAZAILI2kgihk
K&/ B4/ 2E 1R ZERRE R

118 B & th (88 & 2)

VSU
2 BABRAK(EEH I 1) T.114O4—0
2:39 5-0
3R W m(k R == .
Y 8 g =E 2:08 1-4
4B HBH (B F2) ——
i
VPO1
6 & B fE A ( B 7 3) 6:00 3-1
TREGRH 5/6HRTEH;
3R WM (KRR T) ——
HEREROE S 3/ AL RS,
2BHBKR (BEI) —g5—

61 B fE A (FT 7 3 ) =200




THSEERERESFERBREARBTRELARI LT HE B+F

FRXAAJL125kgfhk R R
K& /4% /21

I EBE IR (EH2) T

2 WL W E K (8 E2) —mg

3 @ b X (FT @ 3) =00l



SHEEREESEYRBSARTRELRYV TR ZF

RE/E/FE ERE R
I HESE (BB E2) —

PHEBR (BB %3) —=—>00

3R NI B (kg1 2040

&k

1TROE® (M KXHES3)

TS0
2B R LB (KR 1) Lty
EN-% )
| HEESE ([ %1) —

o e .



THSEERERSFERBEKRTIREZLR VTR BF

GAAA )L51kghk
KA/ BR /26 MR R
TN B@ASD (KR —=—
2% TR (mEmT A
3B T (MK 2) —=—"0
sR OB S 8K L0
SRR 3/atIREY:

2 T X (EBEISI) m———
4 E O = & (fE b1 ) S00S1]




SHSEERERSFERBRARFTRELRI VT HE B+F

GRAA A1 )L55kgih
K&/ /2E 1R R R
1108 8 pk (fE # 3) S
+ " 1:50 4-0
25 B F (£ & 1) —VEA ]
R = o 0:54 05|
S BB D (F R2) = VSU
- 2:51 4-0
4 ER#5=(h XHS3) 1
= o 6:00 3-0
" . 2:22 0-5
== VFO
7N WA OE (kR 2 —t2d

TREGEE 1R  5/6RLREH
2 B H (8 K1) VS0
58 B EF®(H %2) oo
SR BRE 3/ARIRER,
SHABEEBR D (E R 2) ~VPOT |
s ERHRE (T AR -0




AN

R

GARA2A JL60kgih

K& /%48 /F5F

IR OE ( fE M 3 )
N E K3 (KR 1)
F HE X (@@ 2)
B XK (8 £ 3)

EFEFKRB (WY ESZ)
BEEEE(HXE2)
K&ER 2w (EMXKT)

TTR N
EH S

2REGEE
A H B

A (X
K (X

£ ( ml

R1)
R

/B2 )

EFZEKXB (WY ESZ)
K&ER 2w (M)
b A& A (K R1)

HERBRE

N B
2 % 5

X (8
K (X

% 3)
R

MoEERERSFFRMENRETRELRI VT HR

1R 2R EERRE REE
VSU1
2:47 4-1
VFA
0:41 0-5
VFA
_ 2:13 5-0
VPO1
6:00 3-1
VPO1
6:00 1-3
VSU
0:39 4-0
VIN
0:01 5-0
VFA
0:23 0-5
BR1R  5/6{IRTEE
VSUI1
1:20 4-0
VFA
 2:010-5
VSU
0:16 4-0
3/46LR TE B
VIN |
0:02 5-0

5F



SHSFERERESFERBERBERELR VT HR

GAH3 1 )L65kgih
K&/B%%/ 5% 1R ZEJREE RS
1JIIﬁﬁ"ﬁ1EK(ﬁE$$2)T'
sy e 5:28 5-0
2 0 B RBL 3 (BT 3) Vst
3R L WM (MM 3) ——m P00
s A A (W oA @) L1A0 vsu
- ar 3:55 4-0
5 E i§ 1§(ﬁuﬁ3)T'
6 M BB oA (kg2 L0
7T ERBAHF(EHI2) WO:S?LL—O
8 Nl K & (K 5 3) =000
1REGEE BM1R  5/6fIREH
2 W B Rk 3 (g1 A 3) —r1
an 2:53 4-0
4 B BB ovE K (th KXHBA3) /" | VSU

6 BE IR & (K R 2 ) = 027470
o e e o) 50

HERBRLEE 3/AGLR EE
1) i 8 K ( 88 #& 2 ) —1

s Nl A E (A S 3 -2140]




ErEil
GARAAAILT1kgih
K4 /%4 /F5F
1 M@ FE(Ch KH2)
2 HBEBEE (T ABAI)
3T EEXB(XRSI)
4 Z NI B XB(EE2)

2

5

6

E HEE (8 & 2)
mE®RETE (EBH I3)
&K B K (8B M 3)

1REGRE
HEEEE (M AHEHI)

® FEE (8 K 2)
mERZE (EBH I3)

HER BB A
“TEEXEB(KRI)

ZNfEXB(EXR2)

Ho

SHERERESFFRBEFRFTRILRIV TR

1R ZEJREE RS
VSU
0:49 4-0
VSU
2:13 0-4|
VPO1
, 6:00 3-1
VFA
0:59 5-0
VPO1
6:00 1-3
VSU1
3:36 1-4

1R 5/6{ R TE &

0:21 0-5 |

VSU |
1.02 0-4 |

VSuU
0:52 0-4
VFA

3/ 4R TE B

BF



SHSFERERESFERBERBERELR VT HR

GZS"()LBOkgi’f&
K&/ B4/ 2E 1R ZERRE R

—

MHBRZ=E (8 M3)

VPO1
2BEBAM (HHE2) ——e—0003!
3%%53[@2?5(7(%1)% -

L R (fFE B I 2 ) VIN
i 0:24 5-0
5 W % (K R 1) ————= VEA

4:11 5-0
6 / NMME=EER (M AKHZ3I) — s
TR LB (fE o2 ) =320

TREGRHE B1R  5/6HLREH
S ZFBEBREBEA (K R1) ol
- -SR-S -S — N R - 0:59 0-4
’ VFO

6 NHEBR (T AMBRS3) 02

AERGBORE 3/4GLRTEE
2 EEWm KB (A ®£2) VoA

TEE X (K2 ) -2




SHSFERERESFERBERBERELR VT HR

GAA1)IL92kgih
K&/ B4/ 2E 1R R R
1B H MM (EE2) -
N 1:11 4-0
B ) VEO
; 0-5
3@ B A (ET) —2d veol
4EE'TEA(WE3)T' 6-00 3-1
6:00 3-0
5 R WM (KR
6t B 3 th (BF M 2) 6:00 370
1REGRE 5/6 41 3R T Bk
5 oM X R1) —
AERPSBURE 3/ 441 R E Bk
SHEHABRK(EBEHI1) —VIN ]

or

6 15 M 3 th ( fF # 2 ) =200




THSEERERESFERBREARBTRELARI LT HE B+F

GAZA4)L125kg#k HEREE R
K& /1R4&/FE
1T E@BE Y X (8 #%2) TS
2 WL E K (BR2) —gr

3 @ o x (§T @3 ==Ll



